Q TS 7| SEE(K09-412)
sroas (RE7IZE 20231 098 212 06A] ~ 098 222 06A)

[2023H 09E 21 O6A| 2HE

o2 HaF
- 2 Lmit Fo -
> A7 7hE
O (25) ATHO6A]), Fetad2 52|11, M B0 13kt(4km/h) 2 £1, A'ZE 10km O & ALICE 2512 X7|el gats &
CH7F XEXF EO|LE @2 2 H S5 SSX|L0f| XS 27|29| 7FSAZ|0f S M, N2 Se[Z&L th
O (Ug) = Ltsttz £20] fX[et n7|2e] 7FIAE|0| S0, CHM| 2 S2|CH7F XEXF 8T OFX| & LT
EX/E| 27|12 (0 & A0 HE72EFS IEeE)(0) Ol e Z==2mm)
(R3)-/25 (LH)17/27 (R=) 26, (L) 27 -
> 2 7|“01IE
O (712) H(22g) OFZ[XM7| 21t & X1 7|2 AtO| @uXt7L10E We|Z 382 HZAR2[0f {2[SHA|7] HEHL(CH
AlZtE £330 =
219
a2 06 07 08 09 10 11 12 13 14 15 16 17
4 4 4 4 4 4 4 4 4 4 4 4

=E/YuS

(01-19) \[ \[ \J \V \Y4 V V V v W W W

25 =85 =85 =0 =20 =20 =20 20 =0 S0 S0 =0
iS4 iS4 H,HiE 14 E HiE 10 &, HiS110 &, 83110 H,HiE 10 E HiE10 &, 615010 ,HiE10 H,HiE10 = HiE10
219 229
18 19 20 21 22 23 00 01 02 03 04 05
4 4 4 4 4 4 4 4 4 4 4 4

=20 =30 =30 =20 =20 =35 %35 2.5 =5 =5 £35 =5
H 3110 H, U310 I, HE010 HHE 10 H U310 H,HE3 U303 A 33 T, Hi3:3 H,H33 T HE3 A 33

XEEB/PUEL ToY Y20 e B2 ol0fsiD, TelE ke (O 'S E: 4= Z50| 4S oa)

> BB

O gl&

O &iAret

XS24 Bl ZE0| Chot XhM|oH Atet2 a5 7|4 SH 0| X[(amokma.gokn)Of| A ZHRlgt o= QUEL|CH.

SCASAI7| BHO| THEER}, FSHHS QI FAXHS 7 HIZAE|QIS M= S0tmaty| AL (TEL 061-453-4365 / FAX 061-453-5365) 2

LB{FA|7| HFZL|CH




